A TOTAL WEIGHING SOLUTION™

s

WE WEIGH THE WORLD

Conductivity Meter AFS4EA

CM 3 Series

HE AMEHEBME SK[oIA| YT MBS Z2 W== FE 0|42 ARSAH ML

;@QQQZ

Conduclivity Meter [ETED)

PERO®
OO

CAS



CM'3 Conductivity Meter




CM-3 Conductivity Meter TOTAL WEIGHING SOLUTION™

TOHSH FAA ZrAFerL .

B SUIZ AT RIE M YA RBE AEE|
A 2 ABHHAIE 2 SI01FAI7] HIRILICE

Contents

TH2 R, HE 4
CIAZRAIO] 5
FITHE, B s 6
= 2H 42|, 5 g 24, #5 dE5 7
=2k I28 HZSY|, M3 OfgE @E57| ... 8
A A, O B HIN/DI| e, 9
B B s 10
712 S BEII| i 11
B B e, 12
Ul H= MENSE |, AS B, 13
$E BY B &2, 16
=k By, SYRE dssP|, == F TDS £Y..17
s BE, U= e ¥ RAES, BABHE....... 18
A e 19
B et 20
A S AU 21
BEES T 22



CM'3 Conductivity Meter

(F)7tL dEdE U=Z/TDS DIES HEaH MM ZAFELICY,
0| d¥Me HE=/TDS OIHE A&ste U =80| =& HAHE 710152 AlZa 8L
. AH8  G& 23ME 72 27 &0 EdAle.

s

s A oA Y 30| O 24

rel

o i 5= 80% 0|2t
T 2& 74 0°C 014 60°C Ojgt
o A HA| MY QIS

b I52 B9 BE +d30 st 7=

St
HIZ A=Al HRISHAIR. YA F2E 20| UAS &
olal FA|I7| BHEfLIC.

& 2ole 2E 7830 ¥
2 718 712 Hi2lEo 2

CM-3 A==/TDS O|E] =2 CON-1 2Ex A=

— e

TP-10K 2 Z28 DCOV A& o{HE



CM-3 Conductivity Meter TOTAL WEIGHING SOLUTION™

CjASe|0]

CM-3 HEE/TDS DlE{Ols 23S 2tat BE 0f0|22 2of 27| 9Isf ALBEl= 27| 4
S LCD CIAZ0|7} #2s|of YL Tk E= 2t ofojZe| 7|50 Chaf Bt X
OI|__|[:_|.

(=]

(aHoLo | Measure  Calibration Setup

sees: OOO08F

* Press MEAS key to freeze or release the measured value

« Immerse the sensor in the calibration solution

* Press A or 'V key to select the option or value

* Press ENTER key to confirm or MEAS key to retum to measurement mode
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TOTAL WEIGHING SOLUTION™
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age Pl #1%FS
ST 0.001,0.01,0.1,1
232 1~3%
2 g 10uS/cm, 84uS/cm, 1413uS/cm,12.88mS/cm,111.8mS/cm
H 0~10.00, 100.0, 1000ppm, 10.00, 100ppt (Max. 200ppt)
i #1%FS

TDS
SHAE 0.01,0.1,1
TDS Ak 0.1~1.0(7122£0.5)
He 0~105°C, 32~221°F

e Al $1°C
SHAE 0.1°C
2y A 14
25 2A 0~100°C, 32~212°F, & = A=
= A 0.0~10.0%/°C
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st 2= 25°C

Ly 74 6%
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CM'3 Conductivity Meter
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